Math 222-006 (Prof. Young)

NAME: Golution

Math 222 Quiz March 7, Spring 2016
Show all your work. No calculator.

Problem 1: Consider the differential equation
2%y" —ty' +y = tV't.

Given that y; = t is a solution for the corresponding homogeneous equation, first find another
solution y, for the corresponding homogeneous equation. Then find a general solution for
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Problem 2: Find the solution of the IVP:
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Problem 3: Find the solution of the IVP: { —/);

y' =3y —4dy=t+2, y(0)=3, (0)=0.
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What is the behavior of the solution when ¢ — oc? _t + 5
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